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Puzzle 1 (Medium, difficulty rating 0.46)

| r~ —~|
o o o
- ° -

LM |O|N|—| O ||~ ST oo|o | N | OO .W.128_|O49678 bl K¢ (e2) KaN] Aol Rad [ ] [82] (e o] I To]
> = >
= o =
E © E

(ap] RS KaV] Rad l0) il [@2] o o] (o] T|O|M~| OO TN~ | SO0 | O|N[M| <O~ el (S [l Ko@) (40 RSl Rand [[9] (0] [e)]
| . |
£ 8 £

[ [ee] (o] ({o) [ep] Kap) [aN] Roud RS o SO T[N —]O|O| M~ V.68—f1_.08429 =1 bl el ko) [aN] { ol Kol [e o] [ap) B o
° Is °
(] [ (]

[e o] ITo] Kep] RSyl [l KaN] Lo (0] No)) /M\_.O164_{983n/_ /V\3814679_.02- /M\53_{69814n/_
N ™ <

(Co) Rand Ry [e2] (o] NTo) [l Kep) KaN| | o || MO |M—|© (5] (o2l ({e]lle] (ep] [eo) KaN] [ il Rand RS Y 3] (seJ kSN Ke2] hand [T RSy (o] |l Kep]
N N N




